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| PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank.
Then mark the correct choice on vour answer sheet.

1- That —=—---- car has none of the features, like power windows and steering, that make
modern cars so great.
1} antiquated 2) superficial 3) aesthetic 4) hazardous

2-  With several agencies regulating the reports, it was difficult for the accused to argue
against ifs ————--,

1) infamy 2) relevance 3) veracity 4) anticipation

3-  Since Jack did not want a speeding ticket, he tried to -----—— the police officer by giving
her a compliment.
1) convict 2) appease 3) reinforce 4) escape

4-  Trudy studied harder, but there was only -—-----e- improvement in her grades, so she
agreed to get a tutor,
1) marginal 2)commonplace  3) monotonous 4) unbearable

5- Living apes—chimpanzees, gorillas, orangutans, gibbons and siamangs—and humans
share a constellation of -——---- that set them apart from other primates.
1) demands 2) certainties 3) disciplines 4) traits

- Have you ever noticed how a coin at the bottom of a swimming pool seems to wobble?
This occurs because the water in the pool bends the path of light ——------- from the coin.
1) generated 2) recognized 3) reflected 4) differentiated

7-  Publicly available Web services (e.g. Google, InfoSeelk, Northernlight and AltaVista)
-———--—- various technigques to speed vp and refine their searches.

1) specity 2) capture 3) determine 4) employ

8- Owing to the protests of the Dominicaas and other regulars, the book was prohibited in
1760, but the second part was issued —------- in 1768,
1) meticulously 2) superstitiously  3) profoundly 4) recklessly

9-  While admissions offices do admit many students with similar profiles, a college is still a
--------- and diverse community,
1) mundane 2y controversial 3) anonymous 4) heterogeneous

10 Despite the security, the thief's ability to break into the muscum without being caught
remains an —------ - to the police.
1) infection 2} cnigma 3) illusion 4) authorization

PART B: Cloze Passage

| Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on vour answer sheet,

Thunder is caused by lightning, which is essentially a stream of electrons flowing
between or within clouds or between a cloud and the ground. The air surrounding the
electron stream becomes (11) -------- hot—up to 50,000 degrees Fahrenheit— that it
forms a resonating tube of partial vacuum (12) ---------- the lightning’s path. The nearby
air rapidly expands and contracts. (13) —-----—-- the column vibrate like a tubular
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drumhead (14) -==---vn-- a tremendous crack. As the vibrations gradually die out. the
sound echoes and reverberates, generating the rumbling (15) ---------- thunder. We can
hear the booms from great distances, 10 or more miles from the lightning that caused
them.

11- 1) very 2)s0 3) too 4) enough

12- 1) surrounding 2) surrounds 3) that surround  4) and surround

13- 1) that makes 2) and making 3) making 4) it makes

14- 1) produces 2)1s produced by 3) and produce 4) and producing

15- 1)itis called 2) is called 3) we call 4) which called

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet

PASSAGE 1:

Dastgah-e Nava and Dastgah-¢ Rast-Panjgah are the two least performed of Persian
dastgahs. There are not many musicians who know all the guses of these two dasigahs.
It is difficult to find a reason why Nava is not more commonly performed. While it
contains a number of pieces which are performed in one or more of the other dasigahs,
it does embody a number of guses peculiar to its own repertoire. Rast-Panjgah’s lack of
popularity, on the other hand, is due to more tingible reasons which will be discussed
later. Traditionally, Nava is regarded as one al'the seven dastgahs. But, among twentieth
century Persian musicians. Ali Nagi Vaziri and his disciple, Ruhollah Xalegi. have
considered Nava as a derivative of dasigah-e Sur. Their view is a personal one, based
mostly on the fact that the scale of Nava can be constructed from the 4th degree of the
scale of Sur, This is the same sort of argument which is given to establish Bavat-e
Esfahan as a derivative ol Homa yun, considered and rejected previously. Again, it must
be emphasized that the very notion of scales is quite irrelevant to Persian music. Persian
modes are conceived around a fow notes, ofien not exceeding a tetrachord. Above all, it
is the role of these tones and their relationships to one another that determine the identity
of the modes. Their arrangements into octave scales has led to undue attention to such
scales and has placed significance where there is none. To suggest that if we were to
start on this or that degree of this mode we will end up with this or that mode, and
therefore the two are related. is false in western music. but in Persian music it is no less
than ridiculous.

16- What is the passage mainly about?
1) Dasigah-e Nava
2) Twentieth century Persian musicians
3) The guses of Dastgah-¢ Rast-Panjgah
4) Two of the least performed Persian dastgahs
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17-

18-

19-

20-

21-

22-

23-

Which of the following statements is true?

1) It is rather surprising why Rast-Panjgah is popular today.

2) It is rather strange why Rast-Panjgah is not widely performed.

3) It is rather strange why Dasigah-e Nava is not widely performed.

4) It is obvious why both Dastgah-e Nava and Dasigah-c Rast-Panjgah are not popular

today.
What does the word “peculiar” in line 5 mean?
1) Similar 2y Particular 3) Equivalent 4) Crucial

Which of the following statements is true?

1) Some people have argued that Nava is a derivative of dastgah-e Sur.

2) Some people have argued that Nava is a derivative of Bavat-e¢ Esfahan.

3) Some people have argued that both Nava and Bavat-e Esfahan are derivatives of
Homayun.

4) Some people have argued that both Nava and Bayat-e Esfihan are derivatives
of dastgah-e Sur.

What does the word *their” in line 15 refer to?

1) Arrangements  2) Modes 3) Scales 4) Tones

PASSAGE 2:

But what is understanding, and how shall we regard it in this musical context? As a
concept increasingly theorized in many disciplines, there is of course no singular
understanding of understanding. In the present work, however. we shall define
“understanding music™ simply but narrowly-—as the listener’s self-reflexive physical
and cognitive ability to translate musical elements into terms more familiar and tangible
to her. While the particular musical elements and the terms into which thev are translated
vary with both listener and listening modality (the terms are not necessarily nonmusical,
for instance). the activity of understanding music requires a certain consciousness about
the relationships between the musical object and the experiences of the listening subject
that mediate that translation. To understand music, then. theorized here for the
eighteenth century as well as today. requires the listener to be able to hear and be
conscious of relationships between the music and her experiences, musical or otherwise,
of everyvday life. Text and context are thus entangled in this process.

Which of the following questions does the passage intend to answer?

1) What does understanding music mean?

2) Why do people understand music better today?

3) How can we theorize the concept of understanding?

4) How did people react to music in the eighteenth century?

Which of the following statements is true?

1) Understanding music depends solely on cognitive ability of the listener.
2) The concept of understanding is not theorized in different disciplines.
3) There is no unigue understanding of the term understanding.

4) The concept of understanding is understood the same way,

What does the term “tangible™ in line 5 mean?

1) Perceptible 2) Flexible 3) Feasible 4) Credible
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24-

26-

27-

What does the word “they™ in line 6 refer to?

1) Terms 2) Musical elements

3) Relationships 4) Listener and listening modality
What does undersianding music involve?

1) Being conscious of a given context

2) Understanding everyday life experiences

3) Associating musical notes with the related context

4) Awareness of the relationships between the music and one’s experiences

PASSAGE 3:

One way that the first movements of symphonies as a whole communicate opening at
the rhetorical level of a concert program is by echoing both style and situation of theater
overtures. The striking correspondence of expressive content and strategic process in
symphonic first movements and theater overtures is, of course. neither surprising nor
hidden, for the Neapolitan opera overture is widely understood as the immediate
ancestor of the concert symphony. Moreover. throughout the first half of the eighteenth
century the terms “symphony™ and “overture™ were used interchangeably. Even in the
later decades. when the genres were more clearly established, we still occasionally

encounter a symphony listed as an overture on concert programs, as well as an opera

overture referred to as a symphony. Stephen Fisher has pointed out that Haydn himsell
never “adoptjed] a terminology that discriminated between them™ (19835, p.5). Even as
late as the turn of the nineteenth century. overtures and symphonies were not always
considered distinct musical genres. The 1799 cdialog of Johann Traeg’s copying house,
for example. lists all of Haydn’s opera overtures among his symphonies. Further. the
writings of contemporary theorists reveal overlapping usage of the terms “svmphony™
and “overture™ throughout the century.

What is the main point that the author is trying to convey?

1) The first symphonic movements were not successful.

2) The rhetorical level of a concert program reflects its style.

3) For a long time symphonies and overtures were considered to be the same.

4) The expressive content of the first symphonic movements were neither surprising nor
hidden.

Which of the following statements is true?

1) The concert symphony is the precursor of the Neapolitan opera overture,

2) The Neapolitan opera overture is the precursor of the concert symphony.

3) The Neapolitan opera overture has nothing to do with the concert symphony.

4) Both the Neapolitan opera overture and the concert symphony emerged
simultaneously.

What does the term “encounter” in line 9 mean?

1) Come across 2) Keep up 3) Look after 4} Put out
What does the word *them™ in line 11 refer to?
1) Genres 2) Overtures

3) Symphonies 4) Symphonies and overtures
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0-

Which of the following statements is true?

1) Modern time scholars discriminate between symphonies and overtures,

2) Modern time scholars do not see much difference between symphonies and overtures.

3) Contemporary theorists emphasize there was a difference between symphonies and
overtures in the eighteenth century.

4) Contemporary theorists emphasize there was a difference between symphonies and
overtures in the nineteenth century,
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